Timester Challenge
Linear Sequen

ces

Here are the first five terms of a number
sequence
2, 6, 10,

14, 18

Write down the next two terms of the
sequence.

a)

b) Explain how you found your answer.

Bronze *

The first five terms of a arithmetic sequence are
2, 5, 8, 11, 14

Work out the 8t" term of the arithmetic
sequence.

Find in terms of n, an expression for the
nth term of this sequence.

ilver ,(

Complete the arithmetic sequence by
calculating the missing terms.

3, 13,

Here is a pattern made up of tiles. ; ;

a) How many tiles will be in the 5t Pattern?

b) Find in terms of n, an expression for the nth

term of this pattern. ) A
Silver 3

The first five terms of a arithmetic sequence are
8, 5, 2, -1, —4

Work out the 10t" term of the arithmetic
sequence.

a)

Find in terms of n, an expression for the
nth term of this sequence.

Claire says -64 is a term of this sequence.
Is she correct? Give a reason for your answer.
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Timester Challenge
Linear Sequences

Answers

Here are the first five terms of a number
sequence

2, 6, 10, 14, 18

Write down the next two terms of the
sequence.
G 22,26

a)

b) Explain how you found your answer.

The term to term rule is add 4
or the nth term rule is 4n-2 Bronze

*

The first five terms of a arithmetic sequence are
2, 5, 8, 11, 14

Work out the 8t" term of the arithmetic
sequence.
a 23

Find in terms of n, an expression for the
nth term of this sequence.

3n—1
" Silver -,(

Complete the arithmetic sequence by

calculating the missing terms.

l

Difference between 3 and 13 is 10.
The number is halfway between, so ha
the distance is 5. Bronze

If

*

Here is a pattern made up of tiles. ; ;

a) How many tiles will b the 5t Pattern?
Paitdrmn 264 293

26

ssion

FlndPn z’Lcerms of:nZaln

term of this pattern. )
5n+1 Silver “‘-—‘,(

eint
+5
+ 5
exp

b) ression for the nth

The first five terms of a arithmetic sequence are
8, 5, 2, -1, —4

Work out the 10t" term of the arithmetic
sequence.

6th: —7

7th: —10
8th: —13

Find in terms of n, an expression for the
nth term of this sequence.

—3n+11lor11—3n

Claire says -64 is a term of this sequence.
Is she correct? Give a reason for your answer.

—3n+ 11 = —-64
—3n=-75

Yes, -64 is the 25th " = 25
term of the sequence.

a)

Oth: —16
10th: —19
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